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1 Fh . wEE 1t BRI P
& E 7 & REE 7 R
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3NT -1 -50 [£3] 3NT = 400 10
2 it x 4S = -420 x 4S = -420
3 panyiie] [ri] 3NT +2 -660 x 3NT +2 -660
4 E=] x 4H +2 -680 x 6H = -1430 13
5 it 1t 4H -1 -100 1t 3NT = 600 12
6 ,?ﬁ [ri] 3H = -140 [ri] 2H +2 -170 1
7 WE=] [ri] 4S = -620 [ri] 4S = -620
8 TS [ri] 3D +1 -130 [ri] 4HX -4 800 14
9 panyiie] 1t 3NT +1 430 1t 3NT -1 -50 10
10 | \WHB [£3] 4H = 620 [£3] 4H = 620
11 | YW 1t 5H +1 480 1t 6H = 980 11
12 | Edb x 3NT -2 100 x 7H -3 150 2
DATUMiT T
ERigJki ARiES Y. X+ 24 | 49
RMERSERE -3 MK/ REZZ 24 ait 24 | 49
BHRE 24 KETAIBE 3 | VP | a4 108
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 3NT +2 460 [£3] 3NT = 400 2
2 it x 4S = -420 x 3S = -140 7
3 ,?ﬁ [ri] 3NT +2 -660 [ri] 3NT +3 -690 1
4 WE=] x 4H +2 -680 x 5H +1 -680
5 it 1t 4H -1 -100 1t 4H -1 -100
6 ,?ﬁ [ri] 4H -2 200 [ri] 4H -2 200
7 lwsl ® | 4s | -1 | 00| @ | 4s | = | 620 | 12
8 | XWF [ri] 3D +1 | -130 [ri] 3D +1 | -130
9 panyiie] 1t 3NT +1 430 [£3] 4S -1 -50 10
10 | \WHB [£3] 5Hx -1 -200 1t 5H -1 -100 3
11 | X 1t 6H = 980 [£3] 5D -1 -50 14
12 | Edb x 4H = -420 x 6H -2 100 11
DATUMiT T
3Rl I MLTHR Y. X+ 39 | 21
i TA=L=hva 16 gL/ XU -15 &it 39 21
TEE/AKFBE 15 =X/ S8R, 16 V.P. 15.15 | 4.85
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1 TS 1t 3NT = 400 1t 3NT -1 -50 10
2 it x 2S +3 -200 x 4S = -420 6
3 |FAL A 4H +1 | -650 [ric] 3NT | +1 | -630 1
4 PWE=] x o6H = -1430 x oH = -1430
5 it 1t 4H -1 -100 x 5Dx -4 800 14
6 panyiic] [ri] 4H -1 100 1t 5Dx -3 -500 12
7 WE=] [ri] 4S -2 200 x 4S = -620 13
8 TS [ri] 3D = -110 [ri] 4H -4 200 7
9 panyiie] [£3] 4S -1 -50 [£3] 4S -1 -50
10 | \WHB [£3] 4H +1 650 [£3] 5Hx = 850 5
11 | W x 4Sx -3 500 1t 6HX = 1210 12
12 | Edb x 4H = -420 [ri] 6D -2 100 11
DATUMiT T
I'&5F8 IR Y. X+ 41 | 50
KT = /5LAEAn O dK AT BN 6 it 41 | 50
2R Z/EmER -6 RS =/ 2 (@) V.P. 71 | 12.9
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wxE| 4t | aNT | #1 | 430 | 4t | aNT | = | 400 | 1
> |&dtl &= | 4s | = | 420 = | 25 | +2 | -170 6
3 |mE| & | anT | +3 | 690 | & | aNT | +2 | 660 1
4 E=] x 6H = -1430 x 4H +2 -680 13
5 it 1t 4H -1 -100 1t 4H -1 -100
6 panyiic] [ri] 4H = -620 1t 5Dx -3 -500 3
7 E=] [ri] 4S = -620 [ri] 4S -1 100 12
8 TS [ri] 3NT = -400 [ri] 3D = -110 7
9 panyiie] [£3] 4S -1 -50 [£3] 4S -1 -50
10 | \WHB [£3] 6H -2 -200 [£3] 5H -1 -100
11 | YW x 4Sx -1 100 x 5Sx -3 500 9
12 | Edb x 3NT +1 -430 x 3NT +1 -430
DATUMiT T
BARR(E BEMER Y. X+ 1 54
REN/EHR 75 IBZE/E 32 -17 ait 1 54
AEKR/EE 17 §heTER/{B{EHA 75 V.P. 20
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3NT +2 460 1t 3NT = 400 2
> |&dtl &= | 4s | +1 | 450 | 5 | 4as | = | -4a20 1
3 panyiie] [ri] 3NT +1 -630 [ri] 3NT +3 -690 2
4 PE=] x 4H +2 -680 x 4H +2 -680
5 it x 5Dx -4 800 1t 4H -1 -100 14
6 panyiic] [ri] 4H = -620 [ri] 2H +2 -170 10
7 PE=] [ri] 4S -1 100 [ri] 4S -2 200 3
8 TS [ri] 3D = -110 [ri] 3D +1 -130 1
9 panyiie] 1t 3NT = 400 [£3] 4S -1 -50 10
10 | \WHB [£3] 4H +1 650 [ri] 5Dx -1 200 10
11 | X 1t 6H = 980 1t 6H = 980
12 | Edb x 7H -3 150 x 3NT +1 -430 11

DATUMiT T
Iz iR Y, v 50 14

ZIAfE/EEE 47 XISE/HHE= 2 ait 50 14
ZRIE/5KTH -2 {AI3758/BRIE4E -47 V.P. 18.28 | 1.72




